SUMMATIVE ASSESSMENT -1 (2011)

Hopfora wer—I 470037
SCIENCE / fasm
Class — IX / ShaIT— IX
Time allowed: 3 hours Maximum Marks: 90
fFeiRa w9 : 3 "ve SfHTH 3F : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(i)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

e ey
() 9 U U I Q1 91T, 9FT 31 IR 91T § § 9iel 797 2| MU SF1 AR & Ul & Sk
fora £ |

(i)  =ft g arfvant g
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(vi) AT B U W 4 W 7 D UL A Pl B §| gD SR AT 30-30 AR H < T

(Vii) T 31 & U3 T 8 W 19 & U WIF—| 3Dl & B | I IR o T 50—50 Iea] H <A
g |

(viii) 1T &1 & U AT 20 W 24 B YT UIA-UF b B & | P SN ATHIT 70 &I H S § |

(ix) 9N 9 & Ued AT 25 H 42 & U YANHG DI W ARMRGT dgfddhed! Ie € | IAD
U U 3id BT & | Ry T IR R(avedl § 9 MBI SHad Toh d99 STYad [ddmed =1 2 |

Section A

Why dry ice does not wet the surface on which it is kept ?

T 9% 3H IR (YT Hag) hi T i T hdt foro g T St € 2

What does a bowler tend to gain during running from a long distance before he bowls from the take
off line ?

hIE TeaTol 3 W (take off line) | g ek | Wge ol Ui T IS Y FT U HY UIT & 2

Name the cell organelle, other than mitochondria, that has its own DNA and Ribosomes.

ATEaIehil~ga o 3TaTre 3R fS9 Fif¥rent 31 o 3191 DNA 31 Tead™ Bid € STt 9M fafed |

~

Define Crystallisation. Why is crystallisation technique considered better than simple :

evaporation to purify solids ?

foRTealiehtor I TRWIfT FISTT | 319 TeTell i [ i o [T HTLROT ARV hi STUeT fsheeaiiohtor
fafy i S0 A St ©2

What is free fall ? What will be the acceleration of free fall ?

T I T & 2 AT T hT TI0T T SR 2

What is the observation made when an animal cell is placed in a hypotonic solution ? Explain why ?

e Tk Siq HITERT 1 3Ted WER! faerae § Tar st oy 7 efaeierT s €2 foero S =i 2

Draw diagram of neuron and label the following parts :

(@) Dendrites
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(b) Axon
(c) Nerve endings
(d) Nucleus

dfsreRt aRiferent 1 fo AT den frfafaa sl ot mifera wifs
(a) <wE
(b) W (fHenTar)
() TPt sTEm=
d) F=h

8. Give reasons for the following :
(@) Water at room temperature is a liquid.
(b) A gas cylinder cannot be half filled.

() Gases exert pressure on the wall of the containing vessel.

frefafea @ fa wro fate :

(a) e Y W A TH 59 T

(b)  forelt fafaoe & 9 9 st w61 )1 1 wRan |

() 6 58 e H ol gl € SHeR! ARl W S STerd ¢ |

9. What is Tyndall Effect ? “Tyndall Effect can be observed, when sunlight passes through the canopy

of dense forest.” Explain how this occurs.

foveat yum F €2 fordl) = o7 &t Bad H @ W9 g 1 YR TR § d 9% Y9 fTEE 3@ 1 9w HY
BT 3, SATEAT HITST |
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10

Look at the figure above :
(@) Name the kind of motion of the stone.
(b) Is this an example of accelerated motion ? Why ?
(c) Name the force that keeps the stone in its path.

(d) State the direction of this force and draw it on your answer sheet.

FW 1 o <fan
(a) HeeR oI I % WeRR 1 A fafEm

(b) I I% TR Tl ol IR0 § 7 il 2

() 39 9 & M fafE S wer i 9% T W S Tl ¢ |

(d) =9I H feen Fn 7 STo I iRl W 9 Eifau

11 Explain the use of seat belts in car. Which out of the following has more inertia :
(@) a five rupee coin or a one rupee coin *

(b) a bicycle or a truck?

e 92 1 HRH 71 3T ¢ 2 T o fhgeht sioa ety &

() U= ¥9¥ 1 U TqehT W& Uk T 6 e
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13

14

(b)

Teh AEfhal Td Ueh XaTel ?

A ball thrown up vertically returns to the thrower after 8s. Find :

(@)
(b)
(©)

the velocity with which it was thrown up.
the maximum height it reaches.

its position after 5s.  (Given g=10 ms~2)

TR HWR then! T HIE T 8s T g theh aTel & 19 o199 311 5l @ | f=fafaa o1 9fehers ife

(@)

(b)

©)

I8 9 f9Ed Tig S ekt T ot |
g GRT 99 ! 74T 2ATeRad S |

55 o T¥E 7ig i fefa | (e T e g=10 m/s—2)

A body of mass 5 kg starts from rest and accelerates uniformly to attain a velocity of 4 m/s in 10 s.

Calculate :

()
(i)

the force needed to cause this change

the momentum at the start

T five fEe 529 M 5 kg €, T € 9 3dl € 991 THaHH @Ra 8T 4 m/s &l o 10 Hhve H
M6 T AT S| ITOAT KIS

()

(i)

(@)

(b)

A i T I8 qRe ge|
YRfFE Fam |

How does acceleration due to gravity on earth vary as one moves from the equator to the

poles ? Justify your answer.

How does the force of gravitation between 2 objects change when the distance between

them is reduced to half ?

e @R gt R ford yehr fafierar quifan € 5@ 1 qued Y § g &t SR e R )
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16

17

18

19

YA I I Wreferar SifST |

(b) < TUe % ALY M ATl e 9 1 1 BN AfG QI (A0Sl & o i gt el Sl Sy

What is a Meristematic tissue? State its different types. Show their locations in a diagram of a
plant body.

favdides 1 & 2 39 e Yol o1 Soord Sifee | fone gl & gent feafq geisw

Make a table to show the difference between striated, unstriated and cardiac Muscles on

the basis of their structure and location in the body.

gd, Nfgd 9o w1féw IRET o AT 91 IRR ¥ 3Eftafd & STUR W 3T <91 o fou i 9rof

oIy |

(@) Explain. the phenomenon of Plasmolysis .

(b) Explain how do cell walls permit the cells of fungi to withstand very dilute external media
without bursting.

(a) S g7 = 1 Gfshan st sHTEn Sl |

(b) AR I Tk fry gRr it Tufa ek ot hifderstl =l fordlt sifer a7 faerem o fom
He T T 8 7
Intensive fish farming can be done in composite fish culture system. Explain this system.

oy A I 9oIel § e Hes et i ST Gehdl €1 39 YO skl THSET |

What are macro nutrients and micro nutrients ? Identify the micronutrients from the following :
nitrogen, iron, manganese, magnesium.

From where do plants get carbon, oxygen and hydrogen ?

I Uk T F&H Uik FI E 2 FeH Wk qeal I fefated ¥ 9 sifew
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21

G e, SATFRIIST qAT BRSO (e TR T I © 2

(@) Define solution. If 10 mL of H,SO, is dissolved in 90 mL of H,O, Calculate the

concentration of H,SO, in the solution.

(b) Rain water stored in a tank contains sand grains, unfilterable clay particles, calcium
carbonate pieces of paper and some air bubbles. Select one example each of a solvent,

solute, a colloid and a suspension present in the rain water.

(@) o w1 o #0390 mL 5@ W10 mL H,S0, @ & i faes= § H,S0,t
Higell <1 GRehel ity |

(b)  forselt S H G awl o <11 H Xd & &0, THE & gohe, HfePm FEe TR FIHs o T &
Jagel forrm €1 36 Sa § sufted faemess, fao, wiemes, 9o fdeam § 5@ w1 TE-T
ST T |

OR
(@) 110 g of salt is present in 550 g of solution. Calculate the concentration of solution.
(b) List in tabular form any three differences between true solution, colloidal solution and

suspension .

(@) 110 g |TERY T8k 550 g foeram o facra &1 faeem =t digar o1 ufierer wifse)

(b)  Sdfaek foered, siemged g fHefsd | for=dl o sl sl =i difersh o &9 H SRT |

What is evaporation ? List the factors which affect the rate of evaporation and explain their effect on

it.
aTeeRor fohd) shgd &2 STSHeRTo it ST Rl YIS Shi aTel hRehl bt T SIS qT Sk YHTE hi AT
HIfST |

OR
Compare in tabular form , the properties of Solids, Liquids and Gases with respect to :

(i) Shape
(if) Volume

(iif)  Compressibility
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(iv)  Diffusion
(v) Fluidity or Rigidity

frefafea @ Sefea S, gai qon i w1 faPeaed (o) S e 9rot % ® 9 H S

@) o
(i) AR
(iii)  HERT
(iv) foeRo

(v) ALAT YA el

22 State Newton's three laws of motion. Explain how the second law gives a measure of force.

=27 % Tfd % o9 frem fafew ) v Fifse f nfa % fodta fram & 9a =t a3 %58 gw ad 22

OR
(@) Define S.I. unit of force.

(b) Mention any two effects of force.
(c) A body of mass 60 kg has a momentum of 300 kg m/s. Calculate its velocity.

(d) Why does a carpet beaten with a stick release dust ?

(a) o S.I TR ki g fafey |
(b) oA % TRl <1 YWTEll shl Seoi whITST |
©  fRE 60 kg ZoHM Y I 1 Tl 300 kg m/s B 1 SHeRT A7 TRER{T hifoTT |

(d) T S S W WA W e e Fl Heherd! 2

23 The velocity-time graph of an ascending passenger lift is as in the figure shown below.
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(i) Identify the kind of motion of lift represented by lines OA and BC.
(ii) Calculate the acceleration of the lift :
(@) During the first two seconds.
(b) Between the 3rd and 10th second.
(o) During the last two seconds.
SR T AR Sl g8 Teh foT9e 1 I71-99F U =i 51 710 § | I R TR 9 -

Ya
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(i)  OA 3RBC % gN YRR farwe & 7Ifd & TR &l Tg=T |

O
-
O Y S

(i)  forwe o o fe Reafaai o aftenfad sifs@ -
@  YHHA I GHTH
(b) TR IR T ke & oA
© AW AH<H
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OR

v (m/s) 60

| 1 I 1 |E 1

1 1 1 1 1 1 1

0€1 2 3 4 5 6 7
T (s)

Q0 -l
\O -l

|

The V-T graph of cars A and B which start from the same place and move along a straight road in
the same direction, is shown. Calculate (i) the acceleration of car A between 0 and 8s. (ii) the
acceleration of car B between 2s and 4s. (iii) the points of time at which both the cars have the same

velocity (iv) which of the two cars is ahead after 8 sec. and by how much ?

90

80

70 1

v (m/s) 60+
50 1+

T 401
30

20+ fommmnnene
10+ i H

| 1 I ! i ! | I

1 T 1 T T T T 1 1

0€1 2 3 4 5 6 7 8Bo
T (s)

|

Tfa-awa Ih faH € HR A 1 B Tk & TH ¥ IR B Tk Hiel Hesh W e & fown 7 =a @ E
T 7T § | Renferd ifsTe

()  0TqA8 sk o= H FHX A T ©RT|
(i) 2sTAT4 sk oA H HR B h1 @0
(i) =9 % a1 foig el R <l SR A1 ST HAH B

(iv) 85 IIC I H HR A & T foren ?
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25

26

(@) How are new varieties of poultry birds with desired traits produced ?
(b) Mention any four desirable traits for which new varieties are produced ?

(c) List the management practices that are common between dairy and poultry farming.

(@  Hff ot Ufeses il ol 7 fRe foh Wehr Seasl i Sl § 2

(b)  ®E =R s o fafen e fa ot o 78 el sor &1 ot €

(c)  IYUIS TU1 Hape I i Jeie YOTell H GHHTS i Seoid hitad |
OR

(@) List any two benefits of using fertilizers. What will happen when they are used
continuously and excessively ?

(b) What materials are used in organic farming instead of chemical fertilizers ?
(a)  3EhI % STAN & His ol A fafgu | Afc e 1 AR T4 A8 |1 § ST foha - ST
SUERII

(b) (R Gt H GRS ST % T W R vt 1 3w foRan S €2

Section B

Which of the following pass through filter paper unchanged ?
(@) soil and water (b) common salt and water
() both (a) and (b) (d) none of them

71 H = wRedq gy for feied o= § o s ?
(@)  H&1qA S (b) ~ WIERY THE A4 A

©  (a) 3R (b) d) T HHE TE

A true solution of sugar and water is prepared. A studet observed that it is :
(@) Homogeneous (b) Transparent
() Clear (d) All of the above

ST TR STeT Rl Weh aTdforeh foletaq S 11 § 1 o8 STeleiiehd il g |
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28

29

@)  gu (b) e © = ) ST A

To prepare iron sulphide by heating a mixture of sulphur and iron, we should use a:
(@) copper dish (b) petri dish

() watch glass (d) china dish

TH IYT AR ohl TH hich A HohEs I & fau g 3TN &= =1fen ¢
(@) i & @t (b) T fewm

(c) o= o™ (d)  =mfew

While carrying out the activity on burning of magnesium ribbon, we must :
(@) hold the ribbon with a pair of tongs and heat

(b) hold the ribbon in our hand and heat

(c) place it in china dish and heat

(d) placeitin a test tube and heat

T Fl OH S A ATATTEN R T T
(a) TH o1 o | YshgRt 34 T KA1 AT
(b) Tl 1 1Y H Tehght IH TH HAT T8 |

(c) il %I =TT few H TRt 39 TH 1 =1MET
(d) ORI I SR YA H @R 3 TH HEA AT |

A student made a list of following four precautions for the experiment on determination of melting

point of ice. The incorrect precaution is :
(@) The bulb of the thermometer should be kept surrounded with crushed ice.
(b) Ice should be stirred regularly.

() A small quantity of common salt should be added to the crushed ice to avoid quick

melting.
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30

31

(d) The temperature should be recorded keeping the eye in the level of mercury.

fohdll B 7 9% 1 Tk FEiid o o T & fou ffafead =n gearfEl s gt §6wE |
Eﬁaﬂ?ﬁwaﬁﬂﬁﬁ%

(a)  oWTHRR 1 dged Ft g8 9% o forr g =nfew |

(b) % =l FeR foaenifed ed w1 =nfsu

() 218 dh H % THh fHerH =nfsy difsr oo e 1 foered |

(d) 19 %1 UIHF o GHT 3@ HT IR F q § Tl e |

A student heats some water in a round bottomed flask for determining its boiling point. He keeps

on recording its thermometer readings. On the basis of his observation he would conclude that the

temperature of water :

(a) keeps on increasing regularly.

(b) keeps on increasing irregularly.

(c) first increases slowly, then rapidly and eventually becomes constant.
(d) first increases rapidly, then slowly and finally becomes constant.

HIE B M U< & FIReh H o oIcl ol SHhT FAUAIH A hi & f7¢ T Har 1 T B IHF T8
oiHeY o Gl RS a1 § 1 3T UIgAiehl & 3TER W 98 Widl & 19 & fawa # =g e fermerm

IEREETCRE RIS I
@ faf@Erdsemd
(b)  AEHT T § S ®
(€)  T&S ¥R-+k sgd §, TRy aoft ¥ ogdm § &R o= § feer &1 = ¢

(d) TR TS | IR R -+t sea § iR o H feer & sman 7

While separating the components of a mixture of sand, camphor and common salt Mohan added

water to the mixture in a beaker and stirred it well. He observed that component that has
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dissolved in water is :
(@) camphor
(b) both camphor and common salt
(c) sand
(d) common salt

I, YT AT LRI THE o FHF0T &k STTFa] i JoF hid T A + 701 1 st H Tont 399
STt fietrent fareiifed foram STk o Jaton fopan fof St & S aren saaa ©

32 When iron filings and sulphur are heated :

33

(@) a black mass is obtained

(b) the mixture changes from black to yellow

() a pungent smelling gas is produced

(d) the mixture becomes brown

S AR qeT T T T H

(@) T HreN 3 ugre S | (b) T =1 T HT G e & S ¥
()  diewr e ot iy ke | CIEEREELE S

In the reaction of iron with copper sulphate solution, the colour of solution changes from :
(@) green to blue (b) blue to pale green

(c) blue to colourless (d) blue to blue black

HI TThe o faetad a1 a8 Tl WER Afafhar & SRA faaas =1 a1 ¢
() & el & S (b) el § HicH 70 2 S R
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() | TRF B ST ) & - & S g

34 For the separation of ammonium chloride from a mixture, the experimental set up is

shown in figure :

(A A (B) B © C (D) D
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35

36

37

A student recorded the mass of dry raisins as 4g and the mass of raisins after soaking as 7g.

The percentage of water absorbed by raisin is -

(a) 20 % (b) 10 % (c) 75 % (d)  40%

T foreneff 7 gEt frufieil 1 gomm 4g A9 SR 9 H i % 91 SR SEEE 7g "I | 39 WA | R
STARNa ST T Hfrr entt -

@  20% b  10% ©  75% d)  40%

A student prepared two temporary mounts, one of onion peel and another of cheek cells but
forgot to label the slides. Which of the following observations will help him in identifying the
cheek cells slide.

(@) Presence of cell membrane
(b)  Absence of cell wall
(c)  Presence of nucleus

(d) Absence of intercellular space between the adjacent cells

forelt B3 3 1 TR AR, Tk TS i feieet! 1 T TUU WG Hulel HIvTRTsi &I, AT iR
ITeR! AHIfRT AT o 1| A= U 7T Yaqoi F | S | &0 39 G Huld RIS ® TR
qEaM- H HaTdeh BT ?

(a) =if¥reT foroeft i Suftefd

(b)  hifereRT fufa = g

() = il Sufefd

(d) < Herd wfkreRist & o9 T HIRT T 7 B

Metanil yellow, an adulterant used in arhar dal, is basically :
(@) an acid used in toilet cleaner.
(b) aninorganic dye used in leather, paper and textile industries.
(c) adetergent used as washing powder.

(d) yellow painted small stone pieces.

R <ol § Suferd srafige ‘ Herfrel 9ol 9Erd: ©
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(a) T T S I A% A H FA0 foran i 1

(b) SThTEfTR STk ST =HET, YR 9 HUSl M § FA fohar S g1
() T e % ¥ H Ueh STUHSI ¢ |

(d) et T geer W HEH RS |

~2

38 To test the presence of starch in a food sample we generally use a chemical. Select the chemical :
(@) iodine (b) methylene blue
(c) sodium hydroxide (d) dilute hydrochloric acid
Tl & T H 2 o Sufefd & uder < fa g9 A T THE 1 STAR R § | 59 T
ECEIRICTIE I
(a) AEIEM (b) Heflel =g

() dHifem sEeglare (d) d] SRS T

39 Cheek cells can be collected by :
- (@) gently peeling of the inner cheek epithelium with a forcep.
(b) scraping the inside of the cheek with a toothpick.
(c)  pulling out the inner layer of skin inside the cheek with a scalpel.

(d) scraping the inside of the check with a sharp blade.
S U HIRTEAIY T TR U i ST Hhell ©

(a) =9 & wUIA &I Al Tag hl GLAR|

(b) T H&A (Toothpick) H FHUIA St HAqRen TqE hl GLaH |

() Thaud (Scalpel) i HEEA § HUIA Sl TR = hl BT GG |

(d) diteu scTe gRI Shulel shi AR Hdg hl GLAhT |

40 A student observed a permanent slide. On observation he found striations but no cell wall. From

this it may be concluded that the given slide is of :

(@) Striated muscles (b) Non - striated muscles

Page 17 of 18

https://www.evidyarthi.in/



() Neuron (d) Cardiac muscles

foret fommell 7 Toml Tge 1 WeT0T i W g 9 T guE  enfiat € weg it fufa 7@ ®1 39 Jei
¥ =g freand frsharar ¢ fof < T wRe H ¥

()  ad Ui (b)  sfEa st

(© A (d) &3 el

41 A student soaked 10 g raisins in 75 mL of distilled water in two beakers A and B. He maintained
beaker A at 20°C and beaker B at 40°C. After an hour, the percentage of water absorbed will be :

(@) Same in beaker A and B
(b) morein A thanin B
() moreinBthanin A

(d) twiceas muchinBasin A

T fomnedf 7 10 g for9ifi®r 75 mL &9ga 571 # < et A 3R B H i@ st A 1S9 50°C
ATIH R @1 3R SR B 1 100°C R @1 1 5 & o1 SN STel skt Ffqera 7= anft -

(@) A 3R BY TH 9H (b) AHBH Ay
(c) BHAF Afts (d) B AW
42 If you are shown two slides of plant tissues - parenchyma and scalerenchyma, you can identify
scalerenchyme by the :
(@) Location of nucleus (b) Thickness of cell wall

() Size of the cells (d) Position of vacuoles

Ife YR S TET el — WehIZHT AT Thoil=<hIgHT ! RS fe@mE Sl § A1 379 39! Y8 fohdeh g
T ?

(@) s @i ffd (b)  ifereRt faf st Tegeran

()  IfmEmSA 1 9B d) @t sl Rt
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